Quiz 7
ID#: Name:

1. TOZI7IC3—FEEZRITERVIE (Thbb, A4 F—HBIHFELRNIL) 22DV 7
A%z L TR Ww ICU 2D 5 X 9 ICHH L THFE W, Explain that the following graph
can not be drawn in one stroke, i.e., there is no Eulerian path, so that ICU students who are
not taking this course may understand.

2. TDT I 73NNV T T 7TREWC L%, Theorem 7.3 Z W THEHIE L, S, A, w(A)
PTHLPOHRL, NIV V777 TR CHEZHEE T % 2 £, Show that the graph
below is not Hamiltonian by applying Theorem 7.3. Describe S, A, and w(A).

-

Message fill (Eicd E9H ) i WEZFRAL I EDDHD ETh, FYURMKIZOWT, ICUD TCy 12
2T, Have you read the Bible? Any comments on Christianity and “C” of ICU. (THP #g#{A
]y 1ZHHELDH, If you don’t want your message to be posted, write “Do Not Post.”)



